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QUESTION 1

What should an administrator use to quiesce and shut down vCloud Director services?
A. The cell management tool

B. The services management console

C. The vSphere Web Client

D. The vCloud Director User Interface

Correct Answer: A

QUESTION 2

Which VMware Tools upgrade method minimizes the need for scheduled downtime?
A. Use vCenter Server to select and upgrade virtual machines

B. Use vSphere PowerCLI and create a script to upgrade the virtual machines

C. Use Update Manager to perform an orchestrated upgrade of virtual machines

D. Configure the virtual machines to check for and install updates at each reboot cycle

Correct Answer: D

QUESTION 3

An administrator has configured a vApp runtime lease of 10 days. What happens once the lease time is reached?
A. The vApp is powered off

B. The vApp is powered off and moved to expired items

C. The vApp is powered off and permanently deleted

D. The vApp is powered off after a warning message is displayed to any logged in users

Correct Answer: A

QUESTION 4

An administrator decreases the CPU share value for one of two virtual machines in a DRS cluster from 1000 to 100
shares. The DRS cluster contains more resources than both virtual machines can consume.

The characteristics of the virtual machines are listed below:
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The second virtual machine is a clone of the first virtual machine.

Both virtual machines are identical in every way.

Both virtual machines are not attached to the IP network.

Both virtual machines are powered on.

A

The virtual machines will have equal performance under all conditions.

B.

The performance of the virtual machines will reduce by a factor of ten once the share value is adjusted.
C.

The virtual machines will have equal performance under normal conditions and reduced performance when contention
occurs.

D.
The original virtual machine will perform better than the clone when contention occurs.
What impact on the virtual machines\\' performance will be observed?

Correct Answer: A

QUESTION 5

A server administrator reports that a virtual machine has displayed the following message twice in the past 12 months:
No boot device found

Which virtual machine boot option should the administrator configure to resolve this issue?
A. Failed Boot Recovery

B. Force BIOS Setup

C. Boot Delay

D. Network Boot Retry

Correct Answer: A
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